

低 Hom-Leibniz

(1. , 137000; 2. , 130052;
3. , 130024)

: Leibniz

Hom-Leibniz

: Hom-Leibniz

: O152.5

: A

: 1671-5489 (2013)01-0074-09

Classification of Low Dimensional Hom-Leibniz Algebras

XU Li-yuan¹, WANG Chun-yue², ZHANG Ruo-lan³, ZHANG Qing-cheng³

(1. , 137000, ;
2. , 130052, ;
3. , 130024,)

Abstract: The authors determined the two dimensional and three dimensional endomorphism of Leibniz algebras on complex field using undetermined coefficients method, and then classified the Hom-Leibniz algebras of their associated non-Lie algebra.

Ke

$$\begin{aligned}
 1) \binom{1}{3} [(1), (2)] &= \binom{2}{3}; \\
 2) \binom{2}{3} [(2), (1)] &= \binom{1}{2} \binom{2}{3}; \\
 3) \binom{3}{3} [(1), (1)] &= \binom{2}{1} + \binom{2}{2} \binom{2}{3}, [(2), (2)] = \binom{2}{1} + \binom{2}{2} \binom{1}{1} + \binom{2}{2} \binom{0}{0}; \\
 4) \binom{4}{3} [(1), (1)] &= \binom{2}{1} + \binom{2}{2} + \binom{1}{2} \binom{2}{3}, [(2), (1)] = \binom{2}{1} + \binom{2}{2} + \binom{1}{1}
 \end{aligned}$$

$$A = \begin{pmatrix} 1 & 0 & 3 \\ 1 & 2 & 3 \\ 0 & 0 & 2 \end{pmatrix} : [(2), (2)] = \frac{2}{2} 3, \quad 2 \ 0$$

$$2) [(2, 1)] = 3 \quad : \quad ([(1, 1)] = 0, \quad ([(1, 2)] = 0, \quad ([(1, 3)] = 0, \quad ([(2, 1)] = (3), \\ ([(2, 2)] = 0, \quad ([(2, 3)] = 0$$

$$\begin{cases} 1 & 2 & 0, \\ 2 & 1 & 0, \\ 2 & 1 & 0, \\ 2 & 1 & 3, \\ 2 & 1 & 0 \end{cases}$$

:

$$2 = 0, \quad 3 = 0; \quad 2 = 0, \quad A = \begin{pmatrix} 1 & 0 & 3 \\ 1 & 0 & 3 \\ 0 & 0 & 0 \end{pmatrix};$$

$$2 \ 0, \quad A = \begin{pmatrix} 0 & 2 & 3 \\ 0 & 2 & 3 \\ 0 & 0 & 0 \end{pmatrix};$$

$$2 \ 0, \quad 1 = 0; \quad 2 = 0, \quad A = \begin{pmatrix} 1 & 0 & 3 \\ 0 & 2 & 3 \\ 0 & 0 & 1 \ 2 \end{pmatrix};$$

$$2 \ 0, \quad 1 = 3 = 0, \quad A = \begin{pmatrix} 0 & 2 & 3 \\ 0 & 2 & 3 \\ 0 & 0 & 0 \end{pmatrix}; \quad 0 = 2 \ 1 [(2, 1)] = 2 \ 1 \ 3, \quad 2 \ 1 = 0$$

$$[(2), (1)] = 1 \ 2 \ 3, \quad 1 \ 2 \ 0$$

$$3) ([(1, 1)] = (3), \quad ([(1, 2)] = 0, \quad ([$$

$$([3, 2]) = 0, \quad ([3, 3]) = 0$$

$$\begin{cases} 1 & 2 & 0, \\ 1 & 1 & 2 & 2 & 2 & 1 & 3, \\ 1 & 1 & 2 & 2 & 2 & 1 & 0, \\ 1 & 1 & 2 & 2 & 2 & 1 & 3, \\ 1 & 1 & 2 & 2 & 2 & 1 & 3 \end{cases}$$

:

$$1 \frac{2 \sqrt{2 \frac{2}{2} 4 \left(\frac{2}{2} 3 \right)}}{2},$$

$$1 \frac{2 \sqrt{2 \frac{2}{2} 4 \left(\frac{2}{2} 3 \right)}}{2},$$

$$3 \frac{1 \ 1}{2 \ 1} \quad \frac{2 \ 2}{2 \ 2}$$

$$: [(1), (1)] = \left(\frac{2}{1} + \frac{2}{2} + \frac{1}{1} \frac{2}{2} \right) 3, \quad [(2), (1)] = \left(\frac{2}{1} + \frac{2}{2} + \frac{1}{1} \frac{2}{2} \right) 3,$$

$$[(2), (2)] = \left(\frac{2}{1} + \frac{2}{2} + \frac{1}{1} \frac{2}{2} \right) 3$$

$$5) [3, 2] = 3 \quad 1, \quad : ([1, 1]) = 0, \quad ([1,$$

[

:

$$x_2 = 0, \quad A = \begin{pmatrix} 1 & 2 & 3 \\ 0 & 0 & 0 \\ 0 & 0 & 2 \\ & & 1 \end{pmatrix};$$

$$x_2 = 0, \quad x_1 = x_3 = 0, \quad A = \begin{pmatrix} 1 & 2 & 3 \\ 0 & 2 & 0 \\ 0 & 0 & 1 \end{pmatrix}$$

:

$$(i) [(x_1), (x_1)] = \begin{pmatrix} 2 \\ 1 \\ 3 \end{pmatrix};$$

$$(ii) [(x_1), (x_1)] = \begin{pmatrix} 3 \\ 2 \\ 1 \end{pmatrix}, [(x_1), (x_2)] = \begin{pmatrix} 2 \\ 2 \\ 2 \end{pmatrix}, [(x_2), (x_1)] = - \begin{pmatrix} 2 \\ 2 \\ 2 \end{pmatrix}, \quad \begin{pmatrix} 1 \\ 2 \\ 0 \end{pmatrix}$$

$$7) [(x_1, x_2)] = \begin{pmatrix} 2 \\ 2 \\ 1 \end{pmatrix}, [(x_2, x_1)] = - \begin{pmatrix} 2 \\ 2 \\ 1 \end{pmatrix}, [(x_3, x_1)] = \begin{pmatrix} 3 \\ 3 \\ 1 \end{pmatrix},$$

$$\begin{cases} 1 & 1 & 3 & 2 & 0, \\ 1 & 2 & 2, \\ 3 & 1 & 3, \\ 3 & 1 & 0, \end{cases}$$

:

$$x_1 = 0, \quad x_3 = x_2 = 0, \quad A = \begin{pmatrix} 0 & 2 & 3 \\ 1 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix};$$

$$x_1 = 1, \quad x_3 = 0$$

$$\| \quad 9) [1, 2] = 1, [3, 2] = 3$$

$$\begin{cases} 1, \\ 2 \quad 2 \quad 0, \\ 1 \quad 2 \quad 1, \quad 3 \quad 2 \quad 3, \\ 1 \quad 2 \quad 3 \quad 2 \quad 0, \\ 1 \quad 2 \quad 1, \quad 3 \quad 2 \quad 3 \end{cases}$$

:

$$2=0, A = \begin{pmatrix} 0 & 0 & 0 \\ 1 & 0 & 3 \\ 0 & 0 & 0 \end{pmatrix};$$

$$2=1, A = \begin{pmatrix} 1 & 0 & 3 \\ 0 & 1 & 0 \\ 1 & 0 & 3 \end{pmatrix};$$

$$2=0, 2=1, A = \begin{pmatrix} 0 & 0 & 0 \\ 0 & 2 & 0 \\ 0 & 0 & 0 \end{pmatrix}$$

$$: [(1), (2)] = 1 \quad 1 + 3 \quad 3, [(3), (2)] = 1 \quad 1 + 3 \quad 3, \quad |1| + |3| +$$

$$|1| + |3| \quad 0$$

$$10) [1, 2] = 1, [2, 2] = 3$$

$$\begin{cases} 1, \\ 2 \quad 3 \quad 2 \quad 0, \\ 1 \quad 2 \quad 1, \\ 1 \quad 2 \quad 1, \quad \frac{2}{2} \quad 3, \\ 1 \quad 2 \quad 0 \end{cases}$$

:

$$0 \quad 0 \quad 0$$

$$2=0, A =$$

(

□

o

"

|

$$x_2 = 0, x_1 = x_3 = 0, x_1 = 0, x_2 = 1, x_3 = x_1 + x_3 - x_3, A = \begin{pmatrix} 1 & 0 & x_3 \\ 0 & 1 & 0 \\ 0 & 0 & x_1 + x_3 - x_3 \end{pmatrix};$$

$$x_2 = 0, x_1 = x_3 = 0, x_1 = 0, x_2 = 1, x_1 = 0, x_3 = 0, x_3 = 0, A = \begin{pmatrix} 0 & 0 & 0 \\ 0 & 2 & 0 \\ 0 & 0 & 0 \end{pmatrix};$$

$$x_2 = 0, x_1 = x_3 = 0, x_1 = 0, x_2 = 1, x_1 = 0, x_3 = 0, x_2 = \frac{1}{2}, A = \begin{pmatrix} 0 & 0 & x_3 \\ 0 & 1/2 & 0 \\ 0 & 0 & 0 \end{pmatrix};$$

$$x_2 = 0, x_1 = x_3 = 0, x_1 = x_3 = 0, A = \begin{pmatrix} 0 & 0 & 0 \\ 1 & 0 & x_3 \\ 0 & 0 & 0 \end{pmatrix}$$

4 :

$$(i) [(x_1), (x_2)] = x_1 x_1 + x_2 + x_3 x_3, [(x_3), (x_2)] = (1 - x_2) x_1 + x_1 x_3;$$

$$(ii) [(x_1), (x_2)] = x_1 x_1 - x_2 + x_3 x_3, [(x_3), (x_2)] = (-1) x_1 - x_1 x_3;$$

$$(iii) [(x_1), (x_2)] = (1 - x_2) x_1 + x_2 + x_3 x_3, [(x_3), (x_2)] = -(-1)^2 x_1 + (-1) x_3;$$

$$(iv) [(x_1), (x_2)] = x_1 x_1 + x_2 + x_3 x_3, [(x_3), (x_2)] = (1 - x_3) +$$



$$A \begin{pmatrix} \binom{3}{1} & 2 & 0 \\ \frac{2}{3} & \frac{2}{3} & 2 \frac{2}{3} \\ 0 & 0 & 3 \end{pmatrix}$$

:

$$(i) [\binom{2}{1}, \binom{3}{1}] = \binom{1+1}{1} + \binom{1+1+1}{2}, [\binom{1}{1}, \binom{3}{1}] = \binom{1+1}{2};$$

$$(ii) [\binom{2}{1}, \binom{3}{1}] = \binom{1+1}{1} + \binom{1+3+1+1}{2}, [\binom{1}{1}, \binom{3}{1}] = \binom{1+1}{3+1} + \binom{1}{2}$$

[1] Gerstenhaber M. On the Deformation of Rings and Algebras [J]. The Ann of Math, 1964, 79(1): 59-103.

[2] Larsson D, Silrestrov S D. Quasi- A